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7 Electron Densities of the Elements
Belonging to P-Orbits and Reactivity
of the Molecules Contain these Elements

Twelth Report

Kosaku ASADA

Index of Reactivity of Conjugate Molecules. Continually Previous Report On the Conjugate
Molecules, Super delocalizability (Sr) self-Polalizability (zrr) Free-Valence (Fr) and
Localization Energy (Lr) are Calculated by LCAO-MO-Method, and Relationship between
these Indexes and Reactivity Conform by the Practical Reactions of Chemical Literaturs
Particularly on the Conjugate Molecules Contain Different Atoms (O.N. Halogen etc.) 1 (Index
of Resonance Integral g8) of Frontier Orbitals in the rest exite Complicate Molecules is not
Zero.

But at this A is exited to zero, Lr calculated at exite condition is fairly agreed to the
Illustrations of Radical Reaction in Chemical Literatur.
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]_’ 4 Rl
0
/ |
CH=C—CZN~ +R- - R= —C=¢—o-
| N—

COEAIMERCOERETHLLETT S, HEEET
XT7ohVEIED B EBBEERIES,
CN
/ \
(4) CH;=C—Cl av7/72V1r27m54F
RT A= B =T RDOETEHHE,

+0 4018 +01  +06 +18

Cfc%:ﬁl} al

! 10.4
Ci Ce Cs Cs GCs
A Az As As As

2.1858 1.6975 0.8644 —0.3991 —1.4686
c, Cu Ciz Cis Cua Cis
—0.1794 —0.2230 0.5683 —0.6414 0.4296
c, Ca Ce ° Cys Coy Cos
—0.3921 —0.3785 0.4913 0.2560 —0.6294
C Cs Cas Cas Cay Css
—0.2695 —0.5515 —0.1628 0.5103  0.5800
C Ca Cyz Cus Cus Cus
—0.1699 —0.5025 —0.6158 —0.5107 —0.2804
Cs1 Cs; Css Csq Css
—0.8441  0.5004 —0.1731 —0.0427 0.0726

Ci~Cy IHEBRICI Y —Cl ik BFOBENIA 72
WOT r BFRITIEARIL,

> T Ci—Cs DRIGHIBR X EHET 5,

X, fr AHBRTHEET B,

S, i Ci2  Cp2  Ca?
(E)— 11 12 137\ _
sio—2( G+ G+ ) = 8353 i

G

C
iy P

2
++’°‘5)=2.3130

SI(N):2< 4

C 2 C 2 C 2)
(E) — 21 22 23" |
S, 2( 2 G G ) moseny |
2 2 2:0}
SZ(N’=2< 92;1‘4 ¥ Ezjs ) =0.8679
Csi2 | Cap? | Cag?
(E) — 31 32 33" | _
Ss 2( ATt /13> 0.4862
REH
2 2
se—2( St + S8 ) =3 0153
C 2 C 2 C 2
(E) — 41 42 Lg3® )
S, 2( o G o )—1.2008
REZHY
2 2
54‘”’=2< E“/‘t +—E“35>=1A4411
I 1%,
_ C112x Cy4? Ci12xCys? Ci122x Ci4?
R e e A feo el
2 2
+ X8 ) 0776/ 4
— Co2XCs?® | Cpy2 X Cos? Cao? X Cas?
1z 4/B< AL —As + AL —As As — A4 +

Ci0? X Cys? >_
+ Ao —1s =0.1721/8

— Ca12X Cas® | C312 X Cys? Ca® X Cgq?
O e T i R e

Ca2?xCas? \ _
+Lap X )—0.3365/B

Cy1® X Cyy? T Cui2x Cys? + Car? X Cys? +

”44:4/"’( Ar—Aq A —As As—Aa

C422><C452>_
+ =0.1647/8

R, aa>Mne>Mu>In &ch, A4 YBRIGE
Cs ORBWIGHETT HENTRE L D,
F, Fi1=+v3—P12=0.8641
P12=2(C11C21+ C12C22+ C13Cz3) =0.8680
Fo=v3 — (P21 +P2s)=+3 —1.3368=0.3953
P23=2(C21Cs1t C22Cs2+ C23Cs3) =0.4688
P34=2(C31Ca1+ C32Ca2+ Cs3Caz) =0.8464
Fs=v3 —(Psz+Pse)=+ 3 —1.3152=0.4169
Fy=y3 —P43=y3 —0.8464=0.8856
¥R, Fa>F1>Fs>F, &80 722 VIRIGHIEC
DETTHENTERIND,
—7%, BEl=FAF-DFFETI,
Li®1x =C—C—C=N oE&kERI,

I
Cl

—C—C=N o THFHBIRDBETH 5,



PHBERFHOrBETFHEE L TOSTORIGHEICE T (BE12%) 93

A1 As As As
1.9737  1.5835  0.3277 —1.2049
MEXRRT 5 E, —O—6 A=0
—9—@’)— A=1.5835
—O—06— A=1.9737
A=1.5835 D x BF» 1 EEMHALL A=01CA 5,
o TIRERESHDO = x V¥ — Eo (T,
E.=2(a+1.97378) + (a+1.5835) +2a
FARE=2(a+2.18588)+2(a+1.69758) + (a+
+0.86448) = (5a+8.631053)
Li®=E.,—E=2(a+1.97378)+(¢+1.5835) +2a—
—(5a¢+8.63108)=—3.10018

L&y,

~C=C—C=N DEALERIE,

>C=C—C= DHFEELE,

Cl
A Az A3 A4
2.0011  1.3551  0.0500 —1.3263
MEXRRTHE, —O=0—— A=0
‘€—~ A=10.0500
—O—6— A=1.3551
—O0—6— A=2.0011
EHELLA=0 1A%, > TEREEEHED =X L F —
E.=2(a+2.00118)+ (a+1.355183) +2a
L/® =E.—E=2(a+2.00118)+ (¢ +1.35518) +2a —
—E=-3.27378

L% =C—C—C=N al DEALEE R

L
>C—C—Cl oHD 1L —C=N®2fH,

|
=C—C—Cl of&FH#EE,

A1 Az A3
1.9299 0.9911 —0.9410
KR+ hiE, —O—0— A=0
‘%\—@i A=0.9911
—o—0— A=1.9299
—C=N o2 @05 FHER,
A Az S AR rd A=0
1.3808 —0.6208 -o—0- 1=1.3808
o T, TEUBEEGFDO=F LF - E. 1%
E.=(a+1.92998)+2(a+1.38088) +2«a
(=C=N)
L®=E.—E=(a+1.929948)+ (2a+1.380883) +2a—
—E=-3.93958
Ls® x =C=C—C=N

e
Cl DEERIERI,

| L.
>C=C—Cl ®3f& —C=N o2 @ELEHEIL 2a
~C=C—Cl o4 FH#EIx

A1 AZ Aﬁ
1.9299 0.9911 —0.9410
RRd5sE, — A=0

—OC— 1=0.9911
—0—6— 1=1.9299
EMALD 20 13 —C=N 22akkBDT

F D5 FHE A1 A2
1.3808 —0.6208
PEYRNTTHLE, 00— 1=0
‘(9—63— A=1.3808

e 2 EHEIEMALERT A=0 1A B,

fEm, ENEEHOo= s ALF-E,.1x

E.=2(a+1.92998) + (a+0.99118) +2¢a
Ls®=2(a+1.92998) +(a+0.99118)+ 22— E =

=—3.78018

JERZIE, Le®>LE>SLESL® Ltibh, 5on0
HIREHEDTR X 1E C1>Ca>Cs>Co> &b,

FrTlE, Fa>Fi>F3>F, Lo TWB0TC e Cy
PYEEL TW50, Ly DEXR 500N EIEEE~BR
Ci BETTHEFHREINS,

XBIZ X B RSB E B &

(1) CGOI I VREHIRIEE LTI 2 Hh AR
Zrh o B, 1,28E 1, 48Bb,
1, 2%

cl CN
/ /
CH,=C—CN+R: - R—C—C- —
|
Cl
CN
— R jc~$
Cl "
1, 4%
Cl Cl
/ /
CH,=C—=C=N + R* > R—C—C=C=N- —
cl

/
— R4+C—C=C=N
n
(2) ¥EHALLIAKEH & C, Colk7 o » vRIMIIMT
YoTazm=F12T7 Vil

Cl H H

/ | |
CH;=C—C=N + 2H- — CHz“(!:_CEN

Cl

(3) PSRBT X h Cs DR C@X%%H’ﬂfyimf‘ a
27w ANT 7 INT N EER
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7
CH2=(|I—CEN + H20—>CH2=(|:—C—NH2

Cl Cl
4) 72o=vEF 4 —AATAE —RIGICX Y BERL
xR,

CORGIET 2o =v D C OREFHIRIGHE a~
TI/T2VA2 548D C OREMRIGEIZL 5,

CH, \c/
e + AN
C cZ
[ + - | |
N c—Cl c_ _c-a
CH. CN C CN
/1
| ,0
(5] CHx=C-—N_ Ztr=FLY
20

RFT A=A ROMTHETS &,
+0 +0.1 +0.6 +1
| +1

C—C—N=T0

11 _‘—ro
0.7 0.7
Ct C GC C GCs
2 A Az A3 (ho) As(Iv) As
2.1204 1.0333 1.0000 —0.1311 —1.3225
c, Cn Crz Cis(ho) Cu(ly) Cis
0.2012 —0.5598 0.0000 0.6111 —0.5222
c, Ca1 Ca2 Cas Cay Css
0.4266 —0.5784 0.0000 —0.0801 0.6906
c Cay Cs2 Css Cas Css
0.6608 0.0199 0.0000 —0.5926 —0.4602
C, Ca Caz Cus Cua Cus
0.4128 0.4193 0.7071 0.3667 0.1387
Cs1 Csz Css Css GCss
°0.4128 0.4193 - —0.7071 0.3667 0.1387

C1—CsCs 3% C1—CsCs MFEJRITTL » T D,
Ci—Cs OfE» b 7 BFEEOHSBHMEILNEL, o
T7 o MRS TRELTFRI NS,
frig, fi'P=2(C13)?=0 £ =2(C14)*=0.7469
CilIR#H
F2B'=2(Cq3)2=0
Cz b 55V REHY
F3'B1=2(Cs3)2=0
Cs b 3RkEH
FiB=2(C43)%=1.0000 f4™N'=2(C44)*=0.2689
Ca IIREFH
FsB'=2(Cs3)2=1.0000 fs"™'=2(Cs4)>=0.2689
Cs b Ca & AHE

F2N=2(C34)?=0.0128

fg(N) :2(C34>2=0 . 7023

+

+

Css®
) +

SS(N):2<

Casz)_
=8 ) =5.6777

Cuo® C432>_
T + s =1.5010

Cys?
s

)=2.0805

Css® | Csd?
As

)21‘5010

C552>_
= ) =2.0805

CriTR#%
D]

Ce (XA E
7w

]

Ca ¥R
)

Cal3 R
D]

Cs%Ca
L AR

C1—Cs 1&fr & Sy WEfIF %23, CaCs & Sr @ B D
REORIGE S TFRER 5,
WA LT W BR T,

Ci?x Cy4? + Ci?xCys? + Ci122x Cy4? +

H11:4/ﬂ< A — A4

A —72s

Ci22 % Cys? >_
+ Ao —7s =0.8277/8

Caos?

+ Co12 X Cys?

Az —A4

2 2
Car? X Coa +

2
e =4/ 8(4=52

+ Cp® X Cys?

Az—As

AL —4s

>=o.381o//f

Ag—A4

_ Cs12X Cy4? Ca12X Cys? | Cgp? X Ca4?
My =4/ (4175 + Gt 4 a4
2 2
+Lag xCor” >=0.5912/,8
Az As
_ Cy12Xx Cyy? Cy12 X Cys? Cu2? X Cys?
M=/ S4 2500 Gy g Gl
2 2
+ LX) —.0992/8
2 5
— Cs12X Cs4? Cs12XCss? | Csp? X Cs4?
Tso =/ (S5 25500 Cof X g Sl
2 2
+ St X G )0 0992/
A2 —As
f&f, Thh>lss>1la>1Tyu=1Iss L7500, CiORKAK
IEEATTHELTHRINS,

Wiz Fr gty
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Fi1=+/3 —P12=0.9129
P12=2(C11Cz1+ C12C22+C13C23) =0.8192
Fz=v3 — (Pa1+P23) =43 —1.3600=0.3721
P23=2(C21Ca1+ C22Caz+C?®Cs3) =0.5408
P34=2(C31C41+ C32Ca2+ C33Ca3) =0.5622
F3=+3 — (Ps2+Pss+Pss)=+3 —1.6652=0.0669
P35=2(C31Cs1-+ C32Cs2+ Cs3Cs3) =0.5622
Fui=Fs=43 —Pus=1.1699
R, Fa=Fs>F1>F2>F3 TF 2 » ABIRIGIECs &£Cs
NETTHEITFEIRD,
—7%, BElA=FrF-%2ETEL,
0]

|
L® i >C—C—N7 oBRsgkERE
- v §O

. 0
C—N<O oS TFEE R
A1 Az A3 A4
3.0896  2.0000  0.6552 —1.0447
MEYNRTHE —O—O—— A=0
—% A=10.6550
—H—6— 1=2.0000
—Oo—6— 1=3.08%
A=2.0000 © 1 @ EHEAENTI=01CA D,
o UEMESEDO =5 1L F— E. 1%,
E.=2(a+3.089683)+ (2+2.00008) +2a
FEHRik E=2(a+2.12048)+2(a+1.03338)+
+(a+B)=5a+7.30748
Li®=E.—E =2(a+3.089648) + (a+2.00008) +2a —
—(5a+7.30748)=+0.87188
COLFIREMHLI D=2 A ¥ -2 —BFEET
HIRRETRE ZHRTRERMBFIR Y =F L F - RA LI
ek b&EHmTh B,

| 0

Li® iz >C=C—N{ oR&#&RE
N0
|/
C=C—N=0 o&HF#EL,
A1 As As A4
3.1294  1.2476  0.0024 —1.2793
ME*RRrRT5E, —6O—O—— A=0
%— A=10.0024
—C~O— A=1.2476
——O—60— A=3.1294
A=1.2476D 1 EAEMALL A=01CA B,
BoT, EHREEEDO=FVF - E, 1
E.=2(a+3.12948) + (a+1.2476 8) +2a
Lé®=E.—E=2(a+3.12948) + (a+1.24768) +
+2a¢—E=+0.19908

Li® d+0=3 0 F— L D EHLE =2 v ¥ -2 R
ET 2RET BRILED,

l 0]

S~ /O

L® 3 >C—C—N.  omss@fx —N._ o
X0 X0

3L >C—CZ, HEiEfb=51 v D 2a,

Hrt+5E —O—60— A=0

—O—0C— A=1.000
_0
_NQO DHFEEE, A A2 A3
2.5458 1.7558 —0.7016

MRT% &, — =0
—O6— A=1.7558
—O0—0— 1=2.5488
- T, EUBEAEDO=FLF — E, ¥,
E.=2(a+2.54588)+ (a+1.75588) +2a
Lf=E.—E =2(a+2.54588) + (a+1.7558) +2a—E
—E=-0.46008
L:® TS TERICIAETO=F A F -2 0LE L
HEHERL T 5,

| 0
Ls® 1% >C=C—N{ E&#ERE >C=C &
Mo
0
bEFLVD2@ELE ‘I‘\KO DHFHED 1 EICTe 5,

IoSFEHERIIRO A Az As
2.5458 1.7558 —0.7016
Mrd+5s, —6—60 A=0
5 A=1.7558
—0—0— 1=2.5458

2 ERELL T A= 01T A B,
R, TEFX(a+2.54588) D 1AL =51 D 2H,
B - TIEWEEAED E. =(@+2.54588) +2(a+ ) +

(=71 v)
+2a
Ls®=E.—E=(a+2.54588)+2(a+B)+2a¢—E =
=—2.76168

Li® & ZhiiFo=x ¥ - 2B CERLT 5EER
3

R, L%, Lé® i3+ lkeb =rA¥—RETHHE
Bafb, LP<L® Tlab=5 ¥ -2BBLT 5D,
Frii F4s>F1>Fe>F3 L e TWBDTT ¥ H VARG
RS TREERT, RIGRTNTA+ Y RIGEELCEND
NETH D,

CHRIC & B RGHIE
(1) C1oRBEMMEC L 5ES
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e |
>C=C—N] + Na—R" = R—C—C— —
X0
0
r N0
— R4C—C
N
N

2) MKGBLTCB—=tr=FATAI—ARERH,

| 0 [
+ H20 — HO—([:—?*NOZ

EORIGECr DRI G,
(3) {EMKFICLL > TAHF>2UET I VHAER,
H

o) ||
>C=C—N. + H: > >C—C=N—0OH
S0
Cs DRBHIRIETH Bo

0
%, =C=C—N’
0

+ 2H:20
CORGIECs D 52 h AARIEREIT LIS D EE
~bhb,
4) RERCLIHRACXEEZTHLBECTIOHINE

é‘o

+¥s5oHn — R——C—Cll' -
'
- R :c—é o
| o
O n
X, ZOEFIKIZE > TRES IS,
M, CLitNa*—R X h 7 =4 vEAVRESII S
DABROEINTRIIEE B,

0
CH:=CHN”
S0

(6] CH:=C AZZYRr=FY L

“CH3s
RFA— R —BRROETHETS &,
+0 +0 +0.1 +0.6

C=N

C=C__ C==H3
1 2.5

L1 o
C1 C2 Cs Ca Cs Cs

-0.1 -0.5

C
® —0.6842 —0.2486 —0.0906 0.0000 —0.0870

A1 A2 Aztho)  As(ly) As As

2.4012 1.6790 0.8223 —0.4070 —1.4828 —2.9128

c, Cu Ciz Cisho) Cui(lv) Cis Cis
—0.1412 0.2304 0.5989 —0.6237 0.4171 0.0735

c, Ca Caz Cas Cas Cos Cas
—0.3392 0.3869 0.4925 0.2538 —0.6184 —0.2142

c, Ca Css Cas Cas Css Css
—0.1942 0.5932 —0.1305 0.5222 0.5608 0.0785

Ca Caz Cus Cua Cus Cas

C
*-0.1078 0.5497 —0.5867 —0.5186 —0.2693 —0.0223

Cs1 Cs2 Css Csq Css Css

c61 C62 CGS C64 CGS c66

C
® —0.5896 —0.2852 —0.1713 —0.0707 0.2213 —0.6984

ZOGFIECi~Ca DERFRE 25 T B,
X, Cr—Ci D 7 EFEESHEILE, #oTF
ANPGRS TR E R 5,

frik, A =2(Ci5)2=0.7174 AN =2(C,)2=0.7780
Cy 1R BM
Fo'®=2(Cs3)2=0.4851 fo'™N=2(C,4)2=0.1288
Co W IREFHY
F3®=2(C33)2=0.0341 f3™=2(Csy)?
Cs 133K EEHY
£ =2(Cy3)2=0.6884 £, =2(Cyy)2=0.5379
Cs XKEFHY
ZOGFIEEERICIL- T B0 b S, EET 5 &,

=0.5454

S,®= (C/{l +CA12 +C/{3 )=0.9372
2 Crikski%
Ci? | G Cie? iy
(N) — 14 15 16~ |
Sy 2(_/14 +20t —/15>_2'1499
SZ(E)_2< C212+ C222+ C232)=08641
A s ColIRE
SZ(N)_2< 9242 + EZSZ + 8262>=08639 %E"J
As As Ae
Sa®=2( G+ G+ G ) =0 4920
! 2 3 Cs 23k %
Cas2  Cas? . Cag? 7
N — 34 35 36" | _
sav =g St St 4 Gl ) ) 764
2
Sue=g( G Gty C') =) o7
! 2 3 Coli#%
)

Ci~Cs i3 fr & Sy ZHBGIT 5 23 Co 12 £ (IREFH
Xt U Sy (IRBERY & EfI L 7s\s,
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BB IEHEAL & B 8 T Co IR BRI SUGHE 27T

ENTFES 5,
BT BT,

_ Ci2xCr? |, C 12X Cus? Cii?xCy6?
H11—4/,6’< A1— A4 + A —2s + A1 —A6 +
Ci2xCi? | C12xC 152, Ci2xCy6?
R hds T A—2s T
Ci?xCi? | Cig?XCis® | Ci® X Cye® ) —
+ /13 —/14 + As —/15 + A3 _/16
=0.6342/8 —
_ Coi2xCos® | Cor?xCos? | Cpi®X Coe®
=/ S22 Y S
Cos? X Caq? | Cop?XCps? | Cop® X Coe®
+ A2 — A4 A2 —As + A2—As +
Cp32 X Cas® | Cag?XCps? | Cpa?X Cae® > =
R P FE K P N
=0.3799/8
— Ca1?xCas® | Cyi2Xs5™? Cs12x Cae?
H33_4/'8< AL —As + A1—As + A=A +
+ Caa?xCas® | Cap?Xs5™? Ca22 % Cyé? +
Az —Ag Az —As Az —As

+ Cas? X Cas? | Cas® Xas*? Css® % Ca6® > _
/13—/14 /13—/15 /13—/16

=(.3736/8

_ " Ca?2xCys? Car2x Cys® Ca12X Cyé?
44_4//3( A1 —A4 + /11 —As + /11 _16 +

Cu? X Cys® + Car? X Cys? + Ca2? X Cys® +

+

Ae— A4 Ae—2s A2 — A
Cag?xCui?® | Cas®xCas? | Cug®XCug® > —
+ Az —Aa + A3 —As + Az —Ae
=0.5336/,3 H11>H44>H22>H33

A 4 VIR CL B ET T 5 FE0TFESI D,
Fi Fr b T,
Fi1=v3 —P12=0.8682
P12=2(C11Ca1+ C12C22+ C13C23) =0.8639
Fe=4v3 — (P21+ P23+ P2s)=+/3 —1.5087=0.2234
P23=2(C21Cs1+ C22Caz+ C23C33) =0.4622
F3=y3 —(Pa2+P3) =43 —1.3093=0.4228
P25=2(C21Cs1+ C22Cs2+ C23Cs3) =0.1826
P34=2(C31Ca1+ C32Caz+ C33Ca3) =0.8471

F,=v3 —Ps3=y3 —0.8471=0.8850

Fa>Fi1>Fs>Fe &7ch, 79 » VBIRIGE Ca 23 ETT
THENTFHEINS,

—%, BEfb=3x ¥ —®FHET S L,

L®ix >C—C—C=N . _ DELIBERIE
C=Hs

—C=C=N [ _p, OSTFHER

A Az A3 A4 As
2.3612  1.6017  0.2601 —1.2239 —2.8990
ChERRTHE, —O——0— A=0
~—C@— A=0.2601
—O—0— A=1.6017
—O—0— A=2.3612
A=0.2601 © 7 EFIEEL A= 0 KA 5,
ZOIEREEEEDO = F L F — B X
E.=2(a+2.36128+ a+1.60178)+2a
FERE=2(a+2.40128 +a+1.6790+a+0.82238) =
=62+9.80508)
Li®=E.—E=2(a+2.36128+a+1.60178) +2a—
—(6a+9.80508)=—1.87924

E ~C=C—C=N .
L 2C=C=C=N__ _y OEKHERZ

SC=C=C=  _y, TCoOATHEM

A Az A3 A4 As
2.3860  1.3254  0.0499 —1.3500 —2.9112
COBMEERNRT AL, —O——O0— A=0
——e—C A=10.0499
—O—0— 1=1.3254
—Oo—0— 1=12.3860
A=0.0499 O 7 EFHEHEMEINA=01CAD,
BT, EHEAEDO=RALF - E, 13,
E.=2(a+2.38608+ a+1.32548) +2a
% E 380,
Li®=E.,—E=2(a+2.38608+a+1.32548) +2a—
—(6a+9.80508)=—2.38224

L®wx =>C—C—=C=N c=q DEHIEBERII,
——(C=Hs
—C=N (§i#8) o 2@&L%Y 2@, ~EFIX

=C—C—C=Hs AD2E, o2 @xEHiEh
T2a, ZOHFHER,
A1 A2 A3 Aa
2.3488  0.9294 —0.9800 —2.8981
COWEERRTHE OO A=0
l@—el A=10.9294
—O—6— 1=12.3488
A=0.92940 2 2D 7 BFIXA= 0 KEHLI B,
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T, E.=2(a+1.38088)+2(a+2.34888) +2a
(—=C=N)
L:®=E,.—E=2(a+1.38088) +2(a+2.34880) +
+2a—E=—2.34588

() ~C N : p
Li® 3 SC=C=C=N__p OBRARERE

/
>C=C—C=H: OD4BEDTEF,

SFEE
A1 Az A3 As
2.3488  0.9294 —0.9800 —2.8981
K=+5&, A=0
—O0—0— 1=0.9294
—O0—0— 1=12.3488
—C=N @E#IIhtrEFT, 2a
SFHEE A Az
1.3808 —0.6208
—O0—0C— 1=0
—Ce—e’j— A=1.3808
TG A D B =2(a+2.34888 +a+0.92948) +2a
Ls®=E.—E=—3.24868
R, LIP<LP<LE<LIE Lish, 5 2h il
RIGHEDIERLVE, C1>Ce>Ca>Cs &b, Fr Tl
Fi>F1>F3>F2 TR D —F L Tuigly, fE- T
T ANIRIGE L, ODF DR EZER D DPEIE & E A~
B
XHRIC & B RIGHI 2SS &9
(1) Qo rr» vWRIGIZE D 7oL EE,
COERICEL, 28 E 1, 4 BATIHE,
1,28

HR¥% &,

CHs CHs
~C=C—CN + R — R:C—C}Z- -
CHs CN
— R£C—C

|
CN n

fi

1,4
CHs CHs
/

s
=C=C—CN + R* > R=C—C=C=N- -
CHs
- /
— R4C—C=C=N

n
(2) WEHXEH ©Xb o rHRIGIKE Y =511k

(A 2) 7 VERER,

CHs H H CHs
/ | 7
~C=C—CN + 2H - =C—C—CN

(3) PRSI L b Cs DRBAIFIGT Cs 0, OHD

TR,
CHs CHs

/ 7
=C=C—CN + H:0 — :C=C—l—C—NHz

+H20
CHs C 2

s
C=C—C—0H + NH;
(@) o= bEWMET 1+ — L AT A E —RIGTEL,

CH:

—

J’_
CH:2 N\
I \CH
C + | —
cH / \CN /CH
3
CH:
CH:
SC—H
T
C _
I~
CHs CH:
CN
C1 ORBEIGIZ X 5,
CN
/
(7) CH:=C——CH=CH: 3-v7/1372%
= ‘/o
NT A= B —HRDOETEHE,
+0 +0 +0.1 406 +0 +0
C—= iECTN C ‘ c
1 1 1
C1 Cz Cs Ca Cs Cs
1 A1 A2 A3 As As A6
2.0035 1.2225 0.6158—0.3774—0.8730 —1.8914
C Cn Ciz Cis Cus Cis Cis
' —0.2949 0.1569 —0.5659 —0.6534 0.1614 —0.3393
C Ca Caz Cas Ca Cas Cas
2—0.5909 0.1919 —0.3485—0.2466—0.1409 0.6418
C Ca Csz Css Cay Css Css
’ —0.4961 —0.3966 0.0056 0.4518 0.4790 —0.4036
c C41 C42 C43 c44 C45 C46
4—0.3535 —0.6371 0.3514 —0.4623 —0.3252 0.1620
C c51 CSZ CSS C54 CSS C56
? —0.3928 0.4742 0.3457 0.1085—0.5174 —0.4710
c Ce1 Ce2 Ces Ces Ces Ces
° —0.1961 0.3879 0.5614 —0.2875 0.5926 0.2490

Ci~Cs T THERICA - TV BDT fr 13B5T,
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=1.1671

=2.7539
2

== 1=0.8033
2

—-1=0.8032

=0.5031

2
—=)=1.1898

2
——)=1.4026

=0.9099

( )
( )
( )
( )
( )
=g G 4 Ca? , Gty rrgg|
( )
( )
( )
( )
( )

RZAY

C2 lXRE
FHy

Cs 1 3R#%

Ca 133K %%

A1 Az As Cs (IkKE
2 2 FH
SN =9 9534+E—5;; Esje =0.7034
Cei? | Cer® | Cog?
E) 61 62 ~63 |
SE=ARH T )T s
2 2 2 Ty
SG(N)=2< 96;{4 + Eﬁjs + %ﬁ;>=1.2884

FridEtE Lied 5 edd S, & C1~Ce &M HIT 2,
PE - THAPRAET S EMALRE T RSO R IZE L /s

WERTHRINS,
iz I TR T,

_ Cii?xCi? | Cy?xGCys? Ci1i2xCyé®
=/ (S + S e
_|_C122><C142 C122x Cys? Ci22x Cy6? +
Ao — Ay A2 —As A2 — Ag

+ Cia2xCia? + Cis?xCis? | Cia?X Cye? ):
/13_A4 /13—/15 /13_/16
=0.7392/4
_ Coi2xCa? | Cyy?XCos® Ca12x Co6®
H22_4/ﬂ< /11 —/14 Al —/15 + A] - /16 +
Cp2?X Cas? | Cpp? X Cys? Cap? X Cyé?
LI P R Ay e Py P
Cp32x Cps? Cy3? X Cps? Cy3? X Cy6? >_
R Ny e E P P
=0.3030/8
— Ca12x C34? Ca1? % Css? Ca12 X Cg6?
e e T T S et
+ C322XC342 + CazZXC352 + C322XC362 +

Ae —A4 Az —7s

A2 —As

Cas? x Cs4? + Ca3? X Cgs®

+ Cas® % Cg6® > —

/13—/14 Aa*—As /13—/16
=0.4584/8
_ Ci2X Cys? Ciy2x Cys? Cu?x Cye?
H44—4/B< A — 4 + A= + A +
+ Ca22 X Cys? Cap? X Cys? Cip?x Cyé® +
Az — A A2 —4s Az —As
Cuz2x Cys? Cus?x Cys® Cus®x Cy6® > _
Y P J i Py F N R R
=0.5120/8
— Cs12 % Cs4? Cs12x Css? Cs12 % Cs6”
=4/ (S h—ds T -k T
Cs22x Cs4? Csp? X Css® Cs22 X Css?
TRk Tk A —do
+ Csa? X Cs4? Cs3? X Css® + Cs32 X Css? ) —
13 —/14 /13 —/15 A3 _AG
=0.4956/8
— Ce12x Cos? Ce12 % Ces” Ce12 X Ceg®
H66_4/B< AL —A4 + AL —As + A1 —As +
+ Ce22 X Co4® Cez2 % Ces? Co2? X Ces? +
Az —A4 /12—/15 Az —Ae

O S
=0.6016/8
RS, The>Iee> 14y > 55> 133> I3
A VIREIGIE C O BERETTAENTFERI NS,
RZOHFiEn BEFEEOSHEERRD KE L, o
TFoAAHRIGES FEESh D,
Frizgtuv T,
Fi=+3 —P12=0.9289
P12=2(C11Ca1+ C12C22+ C13C23) =0.8032
Fo=+3 — (P21+Pas+P2s) =3 —1.6384=0.0937
P23=2(C21Ca1+ C22Cs2+ C23Cs3) =0.4300
P25=2(C21Cs1+ C22Cs2+ C23Cs3) =0.4052
Fa=y3 —Psz+Pss=+3 —1.2901=0.4420
P34=2(C31Ca1+ C32Ca2+ C33Cs3) =0.8601
Fu=y3 —P43=0.8601
Pse=2(Cs1Cs1+ Cs2Co2+ Cs3Ce3) =0.9100
Fs=y3 —(Ps2+Pss) =+3 —1.3152=0.4169
Fs=+3 —Pes=0.8221
#RF, F1>F4>Fe>F3s>Fs>F2 ,
5o HNMHRIGS CL BT T A2ELATHEI D,
—7%, REl=Fc ¥ —2iE,

Cos® X Ce6® > —
Az —As

L®x =C—C=C=N_|_. omsst@Re,
e | )
¢—C=N |_. czosFsis,
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/11 /12 A3 /14 /15
1.8407  1.1907  0.1926 —0.8484 —1.6755
COBBERTTHE 2 —O——O— A=0
—————ez~a=aw%
———0— A=1.1907
——O6—O0— A=1.8407
A=0.1926 © 7 EF 1%, FEHEAIRTAI=01CA S,
P€ > TIFMEBE A D Ee 13,
E.=2(a+1.84078+a+1.19078)+2a
FRE=2(a+2.00358+a+1.22256+a+0.61583) =
=60+7.683643
Li®) =E,~E=2(a+1.84078+a+1.19078) +2a
—E=-1.62088
L&® 3 >C=C=C=N_|_ - omssases,

sc—c—¢Z bz TROSTFHE,
AL A2 A3 A4 As
1.8478  0.7654 0 —0.7654 —1.8478
COBEERRT B E, —O—6O— A1=0
—0—6— A=0.7654
—O—0— A=1.8478
TEHEREEED Bl
E.=2(a+1.84788+a+0.76548) + 2
E =6a+7.68368
Li®=E.—E=2(a+1.84788+a+0.76548) +2a —
—E=-2.45728

L®& C—C=C=N |_. o®gsese

.S
—C=N (BB IFE) 0 2E& C—C—C=C
DHFEEFD 2ED r BEF EIEHEAD 2 a,

T DL FEEL A Az A3 As

(722=v) 1.6180 0.6180 —0.6180 —1.6180

COBERRRTRIE 60— 1=0
-C@—ez A=10.6180

—&—0— A=1.6180
TEUEEE D E. 1%
E.=2(a+1.38088)+2(a+1.61808)+2a

(—=C=N)
L:®=E.~E =2(a+1.38088) +2(a+1.61808) +2a —
—E=-1.68608

Li®ix SC=C—C=N_ L _ oB&#ERE,
=C=N c_¢cz

[
>C=C—C=CT (722=v)0 4O EF L

—C=N 02D r BFXEEAL, 2¢ (FLEKT)
TE v OHFEER,

/11 AZ /13 /]4
1.6180 0.6180 —0.6180 —1.6180
Mr45sE, — A=0

—O0—0— 1=0.6180
—O0—0— 1=1.6180
TEWEE SO E.=2(a+1.61808+a+0.61808) +2«a
Ly®=E,—E=2(a+1.61808+a+0.61808) +2a¢ — E
=—3.21168

R, LP<LP<L®<Ls® Ligh, o1 K
INHEDIERLIE, C1>Ce>Ci>Cs T, —HF, 1%,

Fi>Fi>F3>F2: TL, Eld—FH Liswy, 65T
FEINARIGTIE L, O ¥ H AT 5DONHEIE & E~
bhb,

C=N
| /

MEEREEGS—D —C=C—C=C 72zo=vH
DHERCH T ERCHENL= R ¥ —DHENYL
EThHIEKT S,

XBRIZ X B RIGHI 2T B &Y
(1) CGoIor v HREHZL Y For v EE, 1, 28
L1, 4 BAATETEE,

CN CN
/ /
>C=C—(’:=Ci + R+ > R=C—-C- ——

I
—C=C—

1, 43
CN

/
:c=c—?=c:-+R-—»R—c—?=c=N~»
—Cc=cC

— R-EC—C=C=N
~l=cz
n
(2) CrORBEMRIGHEIZLY 7 =4 v (Na* R™)
PRIRL, 7= VESL,
Zhiedl, 2B E1, 4BIAEEE,

1,28
CN CN
- / _ /
/C——-C*—C|3=C\+ Na‘tR™— R—C—(':— —
CN _
s —C=C

- R :C—?
—C=CZ
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1, 4% BEXH

CN E
SC=C=C=C=+Na'R" > R—C—C—C=N"~ LAR, X,

1 Lk
_C=cC {Jﬂﬁy &,

i s
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